They both have

They can be different sizes They have the same size

cormesponding
They are produced by a z’ad:‘: "":fihm s
Dilation. (When an object S When talking about
gets larger or smaller) The both have congruent figures, we must
comesponding use the congruent symbol.
When saying that a figure angles that are The congruent symbol is a
is similar to another you congracal. = with a ~ over the equals
use the similar symbol. I symbol.
EX. — formed by a EX. . —
ABC ~A'B'C Translation, ABC =with~ A'B'C
(~) that symbol means “is Rotation, or
similar to” Reflection.
The both have the

same shape.
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